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CNGV - CHGVH - CHGTHZS 28 Fi LIS DIt IR &
500L 7
LPG 836,102 1,039 836, 102 1,039
PG 69, 157 221 69, 157 221
LG 47,283 0 47, 283 0
AG 3, 026 0 3,026 0
LT 1,161 1,140 1,161 1,140
LNGV 0 0 0 0
enL 0 0
(LDH 0 0
|2 Dt 234 40 234 40
fEREyes | 956,963 2446} | 956,963 2,446
HBERAE %) 122.0 111.0
sEmaR | %9400 [ %9400
HETERALE (%) 121.9
500L LA £ 1000L % 7
LPG 13 1 13 1
PG 288 0 288 0
LG 146 225 146 225
LT 0 0 0 0
(DL 0 0
LDH 0 0
B 16 0 16 0
maEsAE | a3l 26 | 7] I 226 ]
HEERAE &%) 56.5 664. 7
wEgaR | T
HNEERAE %) 0.1
1000LEL E
LPG 1,272 540 37 1,272 540 37
PG 27 26 0 21 26 0
LG 244 68 5 244 68 5
LT 15 6 12 15 6 12
wnL 0 0
(LDH 0 0
Eo 0 0 0 0 0 0
fEamgast | 68 7] I 7] reisl e 54
HNEERAE %) 95.5 104.6 91.5
LEgaR | 282 T 232
HNEERAKE %) 0.3
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